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WUT - 31 / SECTION - A
IEFTS WY / Objective Type Questions

[210]

YT WA 18 1007% % v & wre 9w fawew v wo ¥ frd @ v ad@t )

fret 50wyt & Iav oot anT g7 7Y wE Rwre 5t oMR wiz av Rifg
50x1=50

1

Question Nos. 1 to 100 have four options, out of which only one is correct.
Answer any S50 questions. You have to mark your selected option on the

OMR-Sheet.

1. 5% W §ra S &7 0T §
® 25 @ 20
) 30 (D} 35
The mean of first seven multiples of 5.is
(A) 25 (B). =20
(C} 30 (D) 35

20, 13, 18, 85) 6. 15, 21, 9, 16, 8, 22 i wferH 2

(A) 18 B 16

€ 6 . D) 15

The median of 20, 13, 18, 25, 6, 15, 21,9, 16, 8, 22 is
(A) 18 (B) 16

€) 6 (D) 15

23, 15, 25, 40, 27, 25, 22, 25, 20 F1 TS &

(A) 23 (B,IAS

€) 22 (D) 15

50x1=50
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({210

The mode of 23, 18, 25, 40, 27, 25, 22, 25,2018

(A) 23 8] 25

) 22 (D) 15
Wmmﬂwﬁanﬁmﬂlas-ztaﬁwww
(A) 43 (B) 436

c 42 o) v a &g T

The median of a frequency distribution is 40 and mean is 38-2.

Then its mode is

(A) 43 (B) 436

(C) 42 (D) nonme of these

AR x x+ 3, x+5 x+ 7T x+ J0FAA XA x &1 |/ W

(A) 4 (B} ©

(C) S (D) 7

If themeanof x, x+ 3, x+ 5, x+ 7 and x + 10 is 9 then the value of

x is

(A} 4 B 6

(C) S D) 7

s 1 < T g A

- B 1

S (D) i } w7
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[210)

The minimum value of a probability is
A) o B) 1
(C) 2 (D)  none of these
7. w&ﬁwﬁmn%aﬁﬁ%o&sta‘m%wm%m
il
(A) 0-53 (B) &s5°
«1C} 065 (D) 35

If the probability of occurrence of an event A is 0-35 then the
probability of non-occurrence of A is

{A) 053 B) 65
© 065 . DI
8/ i e ) 3o § Hv Rl A e 2
fi«/s (B) 4
) & O 6
In tossiﬁg of three coins the number of possible outcomes is
W 3 B 4
) 8 D) 6

9/ Frafufn § Sl-w e fed gen ) sl @ g 2 2

A) 05 (B),1:9

(C)” 80% o 3

f H/S-24(M)/ 7204 1-r8/30) | Page 5 of 48
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| [2)
h of the following numbers g
Which of the

event ?

19
(A} 05 -
o =
(C) 80% 3
}/ww@ﬁwhﬂsm.““ﬁmﬁﬁ '

| 1
L B :

!

S 2 oz

In a throw of one die the probability of occurrence.of a number 5

less than 5 is .

1 1
S !
() g (D) 3 P

ﬂmiﬁzo, 17, 14, 11, ... %1 35 91 q¢ @ @ »

A) 82 @/ - 82
(D) -

€ 72 72

What is the 35th term of the A P, 20,17,14, 11, ... 7

{A) 82 (B) -82
€ 72 (D) -72
T — —
H/8-24(M) /7204 1-7s/80) | Page 6 of 48
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| [ 210
12, mmaaa,s.la.ls....,qaﬂﬁmimi? |

(A) 19 'j- (B) 18
€ 20 (D) 16
How many terms are in AP 3,8, 13, 18, ... , 937
(A) 19 (B} 18
(C} 20 D) 16

13. sm & 1, 3, 5, 7, . % WU 30 92} # GrTeE B

+ (A} 900 (B) 990
(C) 890 (D) 800

The sum of first 30 terms of the A.P. L.95, 7, ...is

(A} 900 (B) 990
(C) 890 (D) 800
‘137 g (~2v2,-2) R gt 4

(4) wum ' (B) Tara
() TR (D) wgd
The point (-2y2,-2) lies in which quadrant ?
(A}  First (B) Second
(C)  Third (D) Fourth

]H/ S-24(M) /7204 1-|1’l,'I0|| Page 7 of 48
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. | 210)
E 2 :
18, ﬁ‘ﬁ‘;aﬁ{5coao.n}ﬁ(0.53i""l%maﬁ@

(A) 10 B 5

(C) 30 (D) 25
The distance between the points ( 5 cos 0, 0) and (0, 5sin0)is
(A} 10 B) S
(C) 30 (D) 25
16.  ufk i frg B3 x-om @ I T} T A TS 10 W y-AF WA M
" # erard 5 8 A frg B %1 FqwE B i
(A) (S, 10) () (10,5)
- (C) (10, 10} D) (5,5)

If from a point B the length of perpendicular drawn to x-axis is
10 and the length of perpendicular drawn to y-axis is S then thel

co-ordinates of the point B are

(&)  (5;10) (B) (10,5)
(C) (10,10) D (55)
17. fgafit(1,-3)@ (4,-6)Ffafgh
(A) 243 | B) 3J2
€ 9 D) 6
The distance between the points (1,-3)and (4, _. 6)is
(A) 243 | B 343
€ 9 D) 6

H/S-24(M)/72041 -(75/80)
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8.

' (210}
Y30 R T frg A Regd (5,-2) 3l (- 3, 2) A Ty 2, AR

A (0,3) (B) (-2,0)

_{Cl (0,-2) D (2,2)

19,

20,

The poini. on y-axis which is equidistant from the points ( 5, - 2 )
and (- 3, 2)is

€ (0,-2) (D} (2,2)

ABCD t& ¥iraa & fows Wi 4(0,0), B(8,0), C(8,6) T D(0,6)
& @ ata w1 o= faol Bm

(A) 12 B .10

€ 14 | D) 16

ABCD is arectangle whose verticesare A(0,0),B(8,0),C(8,6)
and D( 0, 6&). Then one of the diagdnals of rectangle is

A) 12 B) 10
C) 14 ) (D) 16

AR (0,4),(0,0) (3,0) e P & vl & P € @ 30 fnm
&t qitffa 2

(A) 8 | (B) 10

(C) 12 (D) 15

' H/S-24(M)/7204 1-7s/s09| - Page 9 of 48
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21.

22.

23.

[
e fcrtiCCS of a tnangle "hﬂn

e
10, 4,00 pand {3018

:angle i8
perimeter of the trang
@A) 8 ® 1°
© 12 (D) 15
2y = 2 -tﬂ a

af ax+ 4y = 10T 2x -
| x=hLy=?

(A) x=2,y=1 ’
(C) x=-1,y=-2 oy x=3Y

If 3x + 4y = 10 and 2x- 2y = 2 then
(B) x=1,y=2

(A} x=2,y-1
(D) x=3,y=1

) x=-1,y=-2

Y we A 3xeZy=7 @ 9x- 107 14

@ std ) (B R

(© anPm (D) THA ﬂ?fi L1

The pair of linear equations %:H 3 y=7 and 9x~ 10y = 14 is
(A) cohsistcnt : | (B) inconsistent

(C) dependent (D) none of these

FHIEW 2x + 3y + 15 = oqaax Y- 12 = o%mﬂmmwﬂ
tard ¥ 2

W FERTE ) ta

20 IO Page 10 of 45
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E [210]

The graphs of the equations 2x + 3y + 15 = 0 and 3x- 2y - 12 ~0
are which type of straight lines ?

(A) Coinqident atraigt;t lines .
(B) Parallel straight lines

(C) Intersecting straight lines
(D) None of these

24. Wil FITa 2~ 3y = 5 7% dx— 6y = 7 % gt §
[fy@aﬁtaaaqmm B ¥
© Iwfrm g (D) v A Sl
The system of linear equations 2x—3y = S and 4x- 6y = 7 has
(A) oneand nnlyl one solution

(B) no solution

(C) infinitcly many solutions

(D) none of these

25. IR T W@ 4x + py = 16 T 2x + 9y = 15 WA & A p & ww w

fm ?

™ 3 B 3
(C) 18 (D} -3 |
H/S-24(M)/72041-trs/80) Page 11 of 48
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[2!{,

gx + 9y = 15 arc parallel the,

If straight lines 4x + py = 16 and
what is the valucof p ?
1 B 3
Ay 3
(C) 18 o -9
26. frerifea § =Y oo 40 T R ?
| 1 1 B -1, =2 —2 =L .
(A) 3, 45,4 35, l'/ )
(C) 8, 14,20, 26, ... (D) 4,10, 15,20, ...
Which of the following is not an A.P. ?
-5 -2 -1
(A, 5 ;14 31 ar IBJ -lr —_6-' _é': _'2"1

(C) 8, 14,20, 26, ... (D) 4, 10,15, 20,"...

27. R (2x-1), 7, 3x GRi 2@ | & Mo FAA B0

@/3 (B) 4

€ 1 Dy S
I (2x-1),7, 3xare in A.P., then what is the value of x ?
(A) | 3 B) 4
< 1 (D) 5
28. aﬁamﬁ?su 9 WMot widq,, -
gm ? Rl
" .
(C) 30
(D) 55

H/S-24fMJ /7204 1-zs, ~{78/80)
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1210

i a, is n-th term of the A.P. 5. 12, 19, ... then what is the value of

40 "3 ?
(A) 20 (B) 35
() - 30 (D) 55

29, wﬁmi'am7ﬁm4tqémmm’m-4hhmmww
T ?
A 16 * B) 20
€ 24 (D) 28

If the 7th term of an A.P. is 4 and its common difference is - 4,

then what is its first term ?
(A) 16 (B} 20  °
(C) 24 (D)~ 28
30. ufRe ani 4 & TWH.2 T W W (4n+2n) ¥ @ Tw XD = oW
(a) 6 - (B) 14
€ 8 (D) 4
If the sum of first n terms of an A.P. is (4|r12 +2n) then the common
difference of A.P. is
‘(A} 6 (B) - 14

{C) 8 (D) 4

H/S-24(M)/7204 1-(18/80 ] Page 13 of 48
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| 21%

E : ?
] si"{)xcatﬂﬂwm%

31 | ;
tan 0 (B) ¢o°
A
- 0 (D} cosec 0
(C) sec |
" What is the reciprocal of sin o xcotd?
{A) tan® (B) cas 0
(C) . secH (D) cosccH.
\y/ cot’12° . cot 38° . cotf 52° . cot 60° . co;/:rs =
(a) 1 » B V3
3

W?% | (D)

33. .coscc(90°—e].cos(90°—9]‘.

(A) sec® (BIC, tan O
€ sing ,O (D) cotd
34, ufe sin9=ﬁc'osﬂ- @i 'sec 0 H WA &
1
A s
w7 ® 43
J3 2
< = D) —+=
2 | =) V3
If 5in0=4/2 cos.ﬂ then the value of sec 9 is
1
W = B 3
(©) %5- o 2
J3
H/S-24(M)/72041 ~(75/80) Page 14 of 4_1
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E (210

w3 ST
Cy 9 1
- o 4

36. W A, B, C Al i ABC S W d A cqaec[‘**a]mmt

2
A ...C L
(A} tan 2 B stcc 2
C - . C
(C) cot g (D) sin 5

If A, B, C are angles of a triangle ABC, then the value of

cosec (—4-:—'2-] is

2

C [
W wn§ (B)" sec <
© cotS ~1 O sin S

37. o feeht guft B kTR @ e R TR o T g % Rt = o
a’" X
(;q) 1:k ‘ . B 2:k°
C) 1:k? (D) k%1

If the radius of a circle becomes k times then the ratio of the areas
of previous and new circles is

A 1:k ® 2:k°

€ 1:k2 @) k*:1

[H/S-24(M)/72041-rs/s01] Page 15 of 48
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25

38. & Bem a@ g ) g aRffr wn @l ?

Ak (B (xel)k

€ x+2k (D) (=+2)k |
¢ whose radius is k?

What is the 1otal perimeter of a semicirel

A) =k B (z+1)k
(C} =n+2k (D) (x+2)k
39. 2awiida2diamsRmsguaf it
(A) 264 B) 132 ¥t
(C) 84 ad) (D) v A wé Tl

The distance covered by a wheel of diameter 42 cm in 2 revo!ul,iorl'_

(A} 264 cm {B) 132cm
(C) B84cm (D) none of these

40 wyfwdfcasal @ diwoa, B cw Dﬂﬂﬁﬁﬁﬂ!ﬁll
ABCO T @ & @) @f ABCD w1 QA% grm , \
(A} 64 B4 . (B) 100 &h? |
(C) 125@h? (D) 128 &2

H/8-24(M)/ 7204 1-rervay peat g‘
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41.

42.

| W)
A, B, C and D are four points on the circumlierence of a circle of
radius 8 cm such that ABCD is a square. Then the area of square
ABCDis

(A} 64 cm? ® 100cm*
(©) 125em? (D) 128cm’

IR ply)=(y+1) (y*+2)(y*+6) W gly) =y’ -3y+1 A ';l:%'} =

om

A 6 ® 3
{C) S D} 4

If ply)=(y+1)(¥*+2)(y*+6) and g(y)=y*=3y-1 then the
dcgreeofﬁ%'ia

(A) 6 B 3

€ 5 o 4
frerferfiaa d Wiy fRum wftem R 2

A)  (x+1)(x-1)=x?-d4x (B)  (x-4=3x+4 "+
i

©) 4x+§l;=8x2 D)  (2<° +4) = (5+x) (2x -3)

Which of the following is a quadratic equation ?

A (x+l) (x-1)=x?-dx® (@) (x+4)'=3x+4

€ 4x+-21—x=8x’ (D} (2x7+4) = (5+x) 2x-3)

TH/S-24(M)] 7203 1-ms/ean] Page 17 of 48
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Ll
A) 4 B 3

. | ) - _ 1
If product of the roots of the quadratic equation x” -5x+ p=10 j,

- 4, then the value of pis

(A) 4 B .5
© 6 (D) 8
44. TR (x-2), px?-x-6 F TF PAGE B A p F TH &
w o2 @) 3
cy 1 (D} 4

If (x- 2 ) isafactor of px?-x-6 then the value of pis
(A} 2 B) 3
€ 1 | (D) 4
45. k% fg A ¥ fre Ram wfieor x2 4 6x4 k=0 + @ Trwifys W wwn
ght » |

A) 12 B) 9
€ 10 (D) 6
H/S-24(M)/72041 ~(78/80) Page 18 of 48

by:BSEBResult.In



E ' 1210
For what value of k, roots of the quadratic cquation x? +6x+k=0

are rcal and equal ?
A) 12 (B) 9

(€ 10 D) 6
a6. Feom wfeo %x2-2x+%=0 & el S werla w7 @f o
(A) TS e A (B) <y w@ wHH

(C} areafas TF (D) sqﬁﬁ#{q-gf

What is the nature of the roots of the quadratic equation

ix2 -—2x+§- =0 ?

3 4
(A} Real and unequal (B) .. Real _;and equal
(C) Not real (D) None of these

4%. Irféﬁmﬂmﬂmw y? +3y-18=0 & Th Y& - 6 & o FaHI THU q&A &A1
(A} 3 | B) -3
€ 6 D) S
If one root of the quadratic equation y2+3y-18=0 is — 6 then its

another root is

) 3 ol
6 D) S
~[1/5-24(M)/ 7204 1rsys Page 19 of 48
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2-—81"'5 =0 ‘a; ‘E-' Cl
48 afe feama ST X
44 = >

. — .
roots of the quadratic equation x™-8x+5 4

(B) sS4
(A} 44
(D) 64

€ 74
2_px-¢=0, a¥0 & e &

49, fram Al ax

_piyb? - aac b:I:Jb2+4ac

(A) a

—b14b2+4ac (Q-/inQ -4ac
2a

IThe rools of the qﬁadratic equation ax® -bx-¢=0 , a=0 are

-btJb2-4ac btJb2+4ac

(€)

*) = (B) 2%
(€] -binz +4ac (D) b+ Jbg -4ac
2a 2a

50, e x = 2 B weieRor 2x2+2x+p=0 auy qx2+qx+18=0 ol W
IR F /@ (g- p) T AR BW |
(A) -4 B -3

€ 9 D) 4

|H/ S-24(M)/7204 1-t75/80) | Page 20 of 48
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(210}

Ifx=2is a common root of both the equations 2x? +2x+ p=0 and

qxz+qx+18=0 then the value of (g~ p) is

== ® -3

< 9 D) a

m\/ﬁ-lansmalma "

(A) iR wEn (B),~ iz wewn

(€ ol wom (D) %l A B
2:13113111311113 ... is

(A) a rational number (B) _an irrational number
(C] an integer (D) none of these

T e e v O iy we w1 eEse S wen D d 2

(A) iR we (8),~ Sraftira W -
(C) Wid EE D) ™ & = T

The product of a rational number and an irrational number is

which type of number ?
(A) A rational number (B)

(C) A natural number (D) None of these

An irrational number

| H/ 3-24(M)772041-ﬂmnii
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[2
B "{

53/
| 57
33

19
€ o (D) 33

The simplest form of 0-57 is
57
W 33 ® &
57 19
€ 100 © 33

54./ ofe 140 =2 xS¥x7* WA x+y~z=

@/2 B) 4

€ 3 (D). 01

If1490 =2 2* x5¥ x7* then x+y=z =

A) 2 B) 4
Cc) 3 D) 1
55. (6+4125)-(3+45)+(1-4J5) %
o A 9oy som | (B) 3fela wem
(C) arafas i (D) ¥ R =l
(6+V125)~(3+J5)+(1-4/5) Is
(A) a rational number (B) an irrational number
(C) not real (D) none of these
H/S-24(M)/ 72041 rrers0) Page 22 of 48
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| [210]
56. 0375% g L PO
A 3 x50
{(A) 2° x5 ®) 23“52
3. 3 .
(C) 23xs O 29ys?

A 27xs° (B) 2352
€ 2xs53 D) 22,53
57.. T HWSH 3 7o 3o 15 7T HoRo losalwﬁnﬁmﬁmst?ﬂ@ﬂ
v dend
(A, 75 (B} 15.
c’ 315 ) 525
The H.C.F, of two nRumbers is 15 and L.C.M. is 105. If one of the
numbers is.S then the other number is
A} 75 B) 15
(C) 315 D) 525
58. ufe w1 wwitften a=bg+r ﬁb-43.q=31il‘ﬂ1 r=328 A qa ¥ OH
" am
‘f"./‘ 365 (B) 1356
© 1360 (D) 1350

H/ S-ﬁMJ/ 72041—mru|] Page 23 of 48
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[ 21y

g =31 and r= 32,

bq-l-l‘,b"""si N

If in division algorithm @ =

the value of a will be |
(B} 1356

(A) 1365
(c) 1360 (o) 1350
59, ﬁq@m@ﬂaé?ﬁﬁwﬁiﬁﬁﬁﬂaﬂﬂmmmg?
A)  2g+! ’@,r/ 2g
© 29+3 | (D) 2g+5
If g is ; positive integer, which of the I‘uilnwing is an even POSitive
integer ?
(A} 29+l B) 2g
5], (D) 2g+5

60. Fraferfea A Frumer ameE saw a2 2

y L ' 9]
A —
(A) 700 | (B) 3100
. 343 -
C 15
( ] 23 x 53 x 73 [D] 25 » 32

Which of the following has tcrminaﬁ;ag decimal expansion ?

11 :
(A) === 91
700 (B) Sine 00

(C) 343 15
2 %53 %73 (D) Fost

H/S-24(M)/ 7204 1-(75/30) Page 24 of 48
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(Al [~6,-4)

B} (-4,2)

(Cl (2,6} B s e
- ‘__ }

The Il'lid-poinl of the Jj L ’

-y ¢ line segment joining the points A{ -2, 8 ) and

i K=o B} (-4,2)
C) (2,6) © (-4,-86)

62. ‘lﬁﬁ%{ 1.21,10'(”@(@““!1,#' :
vk ey B) a=2b
i) 2a=b» : O a+bago

If the points ( 1,2),(0,0) and { a, b) &re collincar then
A) a=b (B}~ a=2b
(C) 2a=b (D) a+b=0
63. o Bge ABCH Q¥ A(2,3)an B(1,-3)8 @ == (3,0)2
A f i C = Frmes £

(A) (5, 2) ® (1,3)

(C) (6,0) 0) (2,-3)
Two vertices of a triangle ABCarce A(2,3)and B(1,-3) and

centroid is { 3, 0 ) then the co-ordinates of third vertex C are
B (1,3)
(D) [ 2! -3 '

i H/S-24(M)/7204 1-(rs7s0l] Page 25 of 48
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A = 4 c, AC =
In AABC, AD iw bisecox of £BAC T bsebfe SO

BD = 2 o them the vakoe of DCiS

o B B obam
Q) 7em (D) 4scm
4 AE __8 .

ﬁ!iABCiDEIIFCﬂmtﬁDB X~ ~% 0 EC 3z-15°
x % 7}
A 9 By 10
(cr 11 o 12

AD __4 AE 8
lnmang.cABCDBIIBCMh'-h‘“ DE"%x-4 2™ E6

then the value of x is

A) 9 (B) 10

© 11 D) 12
nf:mncﬂw-mﬂm,ac-12!?r=ﬂm.ac-s%ﬂnhzcmmt

(A 90° B) 30°
€l 60° (D) 4s°
H/B-24(M)/ 7204 1 -treruey Poge 26 of 48
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£

67

of ZC 18 Cm and AC ~ 5 cm then the value
{A) 90" -
) 30°
(C} 60°
{D) 45

ofz 21 awaTe fing et
et & *‘mgmﬁﬂaﬁwﬁm‘iwm

Ay 27:8
B) 3:2

M:4 D 4:9

If the ratio of areas of two ¢quilateral triangles is 9 : 4 then the
ratio of their perimeters js

Ay 27:8 B 3:2
() 9:4 (D). ~4:9
afe AABC a1 ADEF #,AB _BC _AC _5
NEE EF-DF-?li‘la’lmcm ADEF %
ATEA F AT B
A} S 7 {(B) 25:49
(C) 49:25 (D) 125:343

- AB _BC _AC_S -
If in AABC and ADEF, DE-EF - DF T then the ratio of the

areas of AABC and ADEF is
B) 25:49

(A) 5:7
(D) 125:343

by:BSEBResult.In
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Izlﬂi

g AT ZPE g
uﬁﬁpjﬂ(f’sm %1
65 aABC T apoR we fga 1T |
| (AABC) _ |
‘ R
!mm-etsﬂmvaaps-s-zﬂ*?nm_l
. 16
(A) 49:16 @ 25:1 ,
- 64
(C) 36:49 (D) 81

o. jf AD and PS are bisectors qf

AABC and APQR are similar triangle
= 65 cm, PS = 52 cm they

ZA and Z£P respectively and AD

area (AABC] _

area ( APQR)

{A)] 49:16 B) 25:16
(C) 36:49 (D} (.81.:64

70. U WAWTE g B o e @ R A seeht Sard g

(A) * a3 (B) %\G
( 2a4/3 . D 2
| g (D) T
If one side of an equilateral triangle is q then its height is
(A)  av3 By &
B 203
(C) 2243 D) 4
V3

\
[H/S24M)7 7303 175700,
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72.

73,

M“hhﬁﬂmmm _ {210
Ao TR 3§ A om0 P
(A) 4@
B)  5%f
) 10 ad) G il
8

length B cm is 3 cm, Then the radius of the circle i
is

4 i
) cm B} Scm

(€1 abEm (D) 8cm

af D Z0 3w w1 ¢ A vhe vt © den B
(A) ) ©(B) 2
€ 3 (D) 4

If two circles touch” each other internally then the number of

common tangents is

(A) 1 B) 2
©c 3 (D) - 4 |
GﬁMQﬂﬂaﬂmﬁmWﬁmtmﬁﬁmmﬂm
wm T e E

(&} gou [B} 60’

(c) 30° o 1207

I 1/8-24M)/ 73041 -mere) Page 29 of 48
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4.

75

‘ L2y
i s cqual to the Fadius ol g,

by the chord at the centre is

If the length of any chord of

'he angle subtended
e

© 30° o 12

TP a4 Toﬁwﬂwﬁirﬂﬁiﬂwﬂogmmﬁ&

circle then
60°

(A) 90°

wosfremd ya wwr & R £POQ = 120° @ £LOTP %1 WA EF
(A) 40° | 3¢
{C’ 50° (D] 60°

from an external point T 1o,

TP and TQ are two tangents drawn
circle whose centre is O such that 2POQ'="120° Then the value ¢

ZOTPis
(A) 40° (8) 30°
) 50° {D}y 60°

qfe tan2A=cot(A-18°) KR 2A A MW A F 71X B

(A) 72° (B) 36°
{€) 60° (D) 45°

If tan2A=cot(A -18° where 2A is an acute angle, then the value

of A1s

ﬁ o

W 72 B 36
C 60°

(€ 60 (D) 4se

h—
H/S-24(M)/ 7204 1 rsyam Page 30 of 48
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16 2 0 <9005 tan?q. [210]
(A} 1
© 2 ® o
© -,
If °n0=_J_:_3-_ = o
81 3 ¢ 0 90 l'_hen tanzo_.l _
Ay 1
B
Q 2 B) o
o>y -
1. 9cosec? 22° g o2 22941 -
(A) 9
B} 10
1
© 3 ) o
8. R 8in9=-§ @ cos 6 %1 w7
b 2__2
ol e @,/
% b
(C)- 4 -]
%b’ .3 D) Z
If sin9=-g- then the value of cos 0 is
_ . b2 a2
(Al b (8)
[57 _ o2 b
(C) g o 2
h” 2 _;’ 2

- | H/S-24(M) /7204 1-178/80) |

by:BSEBResult.In

Page 31 of 48



{210|

- |

79. @ik seco=i3 @ cot8 =

12
b B) S,
o 2 A 18
T ,
% o 2
12 5
@ 3
=13 to =
If secB= 5 then co
5
= B 13
A 13 13
13
12 Dy =
€ = 5
80. (secO0+tan0 ) (1-sind)=
(A) sin® | (B) cos@
- {C)  secd (D) -~ cosec
y/ frafafgs 4 5 ageg d @ ?
(A) J3x%-5/2x+3 B] 3x*-4x+J5
(9’/ x+24x (D) éx3-3x2+2
Which of the following is not a polynomial ?
(A) ‘Ja x? '-'5\(5 x+3 (B) Ix2 _ dx+ J§
©  x+2dx (D) -éxa -3x? +2

82. WEW (3x? ~7x+2)(2x* +3x° - Sx4 2) 1 Ry 2

(A} 2 B) 6
€ 4 D) 3

H/S-24(M)/7204) “trsrse]
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[/

The degree of )
the Dol}'nomia] (322, [210]
w2 K*2)2xt 4 30 -8x+2) is
(B) '
@ (D )
) 3
8\?/@ x? - 13 % QL] ]
A) 13, -13
o B 13,_3
{?/Jl——' "'Jr.j [DJ J‘I—a-
] "'13
The zcraes of the polynomigy 42 13
: = are
(A) 13,-13 B 13y
€) V13, -J13 O Y
R R -, xF=2x2(2m +2) w1 oy d 2
w7z B s
(C} 9 D) 5

For what value of m, - 4 is one of the zeroes of the polynomial

xz—x-(2m+2] ?

A 7 (Bl 8
(C) 9 D) 5
8. zﬂé‘irgqa _p(x)=ax2-3[a—lix-l T IEH 1 8 N a1 HE B

A) 3 B) 1
(D) 2

© o |
S H /3-24(M] /7204 1-(78/80) Page 33 of 48
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87.

. lx
If 1 is one zero of the W’Ynomld p

value of a is
{A) 3
c o
3
fresffrn & fem Ram wgee & % 5

(B)
(D) 10x2 -x-3

® !

o 2

» 1
V.ﬂ'-'g'!"’
- 24x-~3
(A) 10x2 +x+3 10x 2

(C) 10x*-x+3
Which of the following

% and -% 7
(A) 10x2+x+3 B) 10£+x-3
(C) 10x®-x+3 (D)~ “10x* - x-3

[2101

}Faxi-a[a—llx-l they

quadratic polynomials has  zerce

qft wxn p[x]-x.z—:?.x-tl FEE o @ pEA %(um F W

L4
(A) 4 _ B) 3
€ -3 ' D) 1

If @ and P are the zeroes of the polynomial p(x)= x?-3x-4 then

the value of %[a +p) is

(A) 4 B) 3

€ -3 () 1

H/S-24(M)/7204 1 -r78/80)
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A X=S5 p""“‘!’f{mm [210]
1 (B)
© == o x+3
) 1
If one zero of the Polyng X+5
T Mig] P(-tlis!filhenuncfactorof p(x)
X)I1s
© =% ) s
x=9 o 1
e p(x)=x 3 k2
+2x7 <17y ~4x+30 §
ﬁmmﬁ?ﬁmm‘mm AUx)=x?+2x-15 A wm
s B) 2
e = ~ D) 1

If plx)=x%+23 ~17x2 ~4x+30 is divided by
glx)=x%+2x- 13, thenjthe degree of the quoticnt is

Ay 4 B 2
< 3 D) 1

MW AGR x? +5x+E F @ a @ p AN a2+924:2un %1 O B
w25 ® s

(C) 8 (D) 64

If o and B are the zeroes of the polynomial x*+5x+8 then the
value of a2 +p2 + 0B is

' | B 5

A) 25
(D) 64

{C}] 8

H/S-24(M) /7204 1-178/80] Page 35 of 48

by:BSEBResult.In




= . g b ctREMR
‘!Mm%aﬂamwﬁmwﬁ“"'“ e
B
(A) abc B) 2abe
€ Jabe (D) aJJabe

id are
If the areas of threc adjacent faces of & cuboi a b,

id is
respectively, then the volume of the cuboid

(A) abe (B) 2abc
'fcl Jabe D) 3vabc
92. uw T W uy gt e 216 R 7 v A R
(A)  leqa TR - @) 196 e
© 2w 0" o 26

The total surface area of a cube is 216 cmi then its volume is

(A) 144 cm’ | (B} 196 cmé

C) 212cm’ | (D) 216cm? :
&-/guﬁ%amﬂwm 1:64 % @ 7% wopl gu Sawa w1 W

Em

(A 1:4 B) 1:16
€ 1:18 - D) 1:8
H/S-24(M)/ 7204178730 | Page 36 of 43
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ﬂ The ratio of Wlum“ o

surface areq jq

cu
Al 1:4 ik 6“.“1! ratio of mellrat::.]j
€ 1:18 I FPY
” ﬁwhﬁﬁmwmf] l:g
ﬁﬁﬁﬂlaﬂnmh mmwwml o
A 1:42
© 1:2 W A
Dy 4

W 1:42 B) 21
€y 1:2 D) 1:4

5 mimmmmﬁwt}-ﬂ’q&mmﬁmzﬂﬂn
3 e S 0o |
(A 103 (B) 153

© 208 © 4ot

If the curved surface area of a cylinder is 1760 cm? and its base
diameter is 28 cm then its height is

(A) 10cm (B) 15cm
() 20cm (D) 40cm

s H/S-24({M)/ 7204 1-tre/e0) Page 37 of 48
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(210)

E & wroar{ w¥nft
glﬁhosﬁ(ﬁmnmqﬂﬁ‘ﬁAOﬂ'gﬁmm
2xR8
w B (B 360
2
R’ﬂ % D KRB
© & D) 360

; B =0
If O is the centre and R is the radius of & circle and ZAO then

the length of arc AB is
2K

w 328 ® 360
(C) %%g (D) %%%9‘
57. o Pl v @ Rl S (e snur R AR A IF AT
Q7% @M
(A)  nrd+r B arl +xr’
(C nrwr? ‘ D) ard+2%

If I is slant height of a cone and r is the radius of its base then total

surface area of cone is

(A) nrl +r (B) =arl +nr®

(C) =arl +r2 D) =l +2r°
%&/ﬁ'ﬂ?ﬁ*mwmms:zyta\mwmmm
am
9:25 | B) 25:9

/s | D 3:5
H/S-24{M)/ 7204 1<roren, Page 38 of 48
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ﬂ 1218

The ratio of
volumes of two spheres is 125 : 27 then the ratio of its

surface areas is
(A} 9:2s (B) 25:9
o S O 3:s
». Eﬁ‘“ﬁ“‘*ﬁﬁﬁﬁmm 32 8l $or & i F w9 § @ wm
21 9% ¥ anur € A 2
(a) s | B) o
(C) 10&R D} 12%h

A sphere of radius 8 cm is melted to form a cone of height 32 cm.

The radius of base of the cone is
(A} 8cm (B) " 9 cm

(C) 10em " D 12cm
100. AR et H TR dwet 616 A2 & A T %1 =@ B

(A) 7o (B) 14 &h

(C) 283 (D) 56 ¥

If the surface arca of a sphere is 616 cm? then the diameter of

sphere is
(A) 7cm B) l4cm
(C) 28cm - - (D) S6em

[H/S-24(M)/ 7204 1-78/801] Page 39 of 48
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| 210

wvg - w / SECTION - B

Y Iwiig Wy / Short Answer Type

wv7 W 1% 307w my e v 1 gt A 1
7¥T & Re 2 oiw Pratfi 1

Question Nos. | to 30 are Short Answer Type Queslions. Answer any
1I5x2=30

Questions
s qvr & T ¥ aiw
15 x2=30

15 questions. Each question carries 2 marks.

|, . qfiers R weiikor w1 s O 148 T 185 F HoRo TW W 2
Using Euclid division algorithm find the HCF of 148 and 185.
2. Pt stfes! w1 ama @ w 2
(. 2 4 6 10 12 _l
R 3 2 3 1 2|
Find the mean of the following data :
Variable 2 4 6 10 12
Frequency 3 N 3 1 3

3. TR & wm W P A A 3 9N a5 O 9 0 W @ R g

sl % 9 W #9600 B @ op H oA W@ B

2

If the angle between two tangents drawn from an external point

P to a circle of radius 3 cm and centre O is 60°, find the length

of OP.

¥ 7d gm ?

k% Rrg vm & fom aflem ke + y= 170 (k- 1) x+ 2y = 3 % B

2

For what value of k equations kx + y=land ( k-1 ) x+ 2y =3

have no solution ?

5.  ®H0 3x+ y= 1] F I demail 4 g fod) 2
Write the solution of the equation 3x + y = 11 in natural numbers.
H/8-24{M}/ 7204 1-17s/80) Page 40 of 48
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Wi 1 L
6. x RE‘G"'O-Q*WﬁMﬁI l
2
Find the To0ts of ¢k
o 1
. “Quation X"XI3%3, x20 9
7. AABCH 0. o0
Cagg s&:omrmmaﬂzca%mhgtﬂ
e =t 440% 5 4402 + BC?
. 2
in = gpo
4ABC, ¢ 90° and P, Q are Mid-points of 8ides CA and cp
respeclivdy Then Prove tha 4402

2
; eQuidistant from thepnintuB(S ~ 2 ) and
C[Q.—Q]thcnﬁndthcvn]ueofx.

9, ﬁg(-e&.s},ﬂ:gsﬁu-s.m}sﬂtma.-sma‘ls%mﬁhm

affﬁmalgqmﬂﬁmham!? 2

In what ratio does the point ( - 4 6 ) divide the line segment joining
thepointsAl-&,leandB[S,—B)?

10 ﬁgaaacmﬁwamﬁmmm A(2,1),B(4,5)@

(0,3 2

Evaluate :

sec(90°-0) cosecd~tan(90° -0 Jcot6+c0s? 25" + cog? gs® ‘
. 3tan27’ tan63’

[H/S-24(M)/ 7204 1-re /30y Page 41 of 48
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210

2
secO+tan@ (1+sin0 2
];/ R accﬂ-tun(}"( cos @ ] |

secO+tand _[1+sinﬂ]2'
secO0-tan® | cosO

lVﬁﬂmmm ﬁxﬂ_pﬁmaﬁﬁmmﬁ@m"ﬁﬂm
ward 2

: 2
Find the discriminant of the quadratic equation V2x'-x -¥2 =0

Prove that

and hence find the nature of the roots.

14, k¥ frm w % Rrg FREO keix -2)+6=0 % TF TER G ?

For what value of k will the equation kx(x-2)+6=0 have equal

2

roots ?
FEER R gR S, 11, 17,23, .. mAE w3 ¥ ? IR

of the list of numbers

e :
Check whether 301 s a .term
5 11, 17, 23, ...y

16. fag &t fR(2+73)° o oitiy g T8 B
Prove that (2++3)%is not a rational number.

17.  fom 75w 3x* - x-4 % s T R 3k TH T Pt & =W
w4y ) g 6 Afw Hi) 2

Find the zeroes of the quadratic polynomial 3x°-x-4 and verify

the relationship between the zeroes and the co-efficients.
1§/irgqa 2x* +3x° -2x? -9x-12 # TEWR x? -3 W wm &) 2

Divide polynomial 2x* + 3x> - 2x% -9x-12 by polynomiat x* - 3.

H/S-24(M)/ 7204 1-(75180 Page 42 of 48
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Find the gy, w‘rﬁﬂ‘ﬁ’rmﬁl [210}
8% " Oterm ory 2
* IS H 3 3 w3, +917, 25,
Find |
» ﬂ;; of firgt 15 Ultiples o 2
POR 3
PSs _pr Tmﬁmmpﬂﬂwmtﬁs
SQ TR ZPST

that £S _pr
" S =% and cpsy .

| an
1808celeg triangle,

2. IR ww (8% +9)2 4 135 1 60 wqwmgﬁmmhﬁamm
A wY ' 2
If one zero

of the polynomial (@ +9)x?
the others, thenfin

adding 1 to the denominator it becomes % Write the equation for
this statement.

24, mwgmansy-gmsﬁzyuaﬁmmﬁﬁﬁmﬁl 2

Solve the pair of equations 8x + Sy =9 and 3x + 2y = 4 by
substitution method.

[H/S-24(M)/7204 1-re/s0) Page 43 of 48
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l210]

MISSING PAGE 44

H/8-24(M)/7204 | (18/80)
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MISSING PAGE 45

l210]
-3

H/8-24(M)/7204 | (18/80)
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1210
5

i

[ sin A , LtcosA sin A _1-_0"_____"“]-41:!:3&:3 cotA.
l+cos A sin A 1-cosA sin

Prove that

sinA_ 1+cosA sinA l"_F“.__'A] =4 cosec A CotA.
l+cos A sin A 1-cos A ginA

m:eﬂﬁ,aﬂmmlowﬁmﬁﬂﬁﬂm*ﬂ“m'ﬁ?ﬁﬁ
5

as.
ﬁmwmmmmmt!wﬁﬂhﬂlmﬂil

Metallic spheres of radii 6 cm, 8 ¢m and 10 cm respectively, are

melted to form a single solid sphere. Find the radius of the

resulting sphere.
mtmﬂaﬂtmmmﬁuﬂmothﬁ@mﬁmam

3 e & At I B o w6 R SR daR A S

6 ™ i 5

The angles of elevation of the top of a tower from two points at

distances of 4 m and 9 m from the base of the tower which are in

the same straight line, are complementary. Prove that the height of

the toweris 6 m.

37. ¢t e @ ga Ay R o g Rn s AR A e

Y g Y = Hw R I dwgt T 5
H/8-24(M)/ 7204 | <18/80) Page 46 of 48
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Dr
; AW 2 cirele of radiug g om, p 210
centre, Conatryet th ! TTOM & point 10 cm away from iy
€ pair of
their lengths tangenta to the circle and measure
38.  Frefifyy sy W ey
5
gt - :ﬂiﬂ'lﬂ. *"‘““T\-__.__
0-45 { 45-50 | 5055 5
WL 5-60 | 60-65 63-70 | 70-75
S . 3 8 6 6 3 2
Find the Median of the following data
Class-i
S8-interval | 40.45 45-80 | s0.-55 55-60 | 60-65 | 65-70 | 70.75
Frequency 2 3 8 6 & 3 2
> e e -
fagre 9@ Gdfea @afl orrarerd],
ST A, U%sT U, TuAE
eI e f3® st wead
ESUA &S Be|
BSEBResult.In
[H/S5-24(M)/ 7208 1-78/80) Page 47 of 48



